Mr

MCR 3U9 Semester 1, 2016 - 2017

Unit 3 — Mid-unit Test — Make-up for TIPS Question
. N. Nolfi Z _ " T % Qg ” TIPS
Victim: % JD&/&M g E’ ’ L. 1818

Grade 11 Pre-AP Functions

1.

The centre of a Ferris wheel is 90 m high and 120 m along the ground from the park entrance (at point P).
As shown in the diagram below, the Ferris wheel has a radius of 60 m and it rotates counterclockwise. C‘
150 E

A rider, who is located at point R, is h(&) m above the ground and d (&) m away from the park entrance.

(a) Sketch two cycles of the graph of h. Write two equations for h, one using “sin” and the other using cos 5 I
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Equations: /
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1. h(f) = Wsint+ 90 2. _h(D) = 60 cos(8-T) £90 €)

(b) Suppose that the Ferris wheel spins at a (c) Would you expect d to change sinusoidally with 6?
rate of 1 rad/min. Write an equation that Explain.
describes the height of the rider as a . . T
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(d) Write a fully simplified expression for d (9). @
Hint: Use the Pythagorean Theorem and the Pythagorean identity.
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